B N ERE

1. LEA4
T4 P AL S R A PERS R T
TEH 4 H) L W 76 i T B A AT i 4
F) S R VG i T LA A
2. TENE
1)  HHE4 EEEFEEIT TEE R
2) T THEEMER T
3) T biij 321 H H 0 THE 8H14H
ES 4F0 84 6H30H
4)  TEE

ESR S S E IR Wk S



B N ERE

T4 | Bl S S AR E T

THEXSy - TH - Fl5 H A7 B & & F # ] N EN
18 BAEHRE = 1 47, 764, 002
Pk T = 1 46, 953, 134
LT =K 1 30,854 | ; IRIE.HER., LW EERE T
NIRRT = 1 253,480 | FEFHA: 1 p-e
AR @ &) &76.3 HES4. om BES @
=177 997 5 avp)-h BReE e
o S 1 i
B (GREZED) £276. 3 FEE 3. sm(iHhiAl)
WALSL (07790 ARE R E T
o SR 1 B
(210)
2. Om2Aw JA A7 VAT MR Bt BT
o SR 1 B
(21202)
2. Om2 A JAA7 VATV Bt R AT
O T =Y 1 46, 668, 800 | 1A HLRE ! £
(typel)
Frre oo 2 (18 = ZLa%) 6. 0m3LA | 1200 X700
0X 1000 ; av7)=b A BRATG. TV/A-K Wb 77 2%y
7 ET
o Tk S 1 P
(type2)
FER O EERE 4. om3LL 6. Om3AT# 1200 X 4400
X 1000 ; KAE R, FEmAEE, LA 2V ) -,
YN S T B N AN A E STV A= Y
o Tk S 1 P
(type3)
HRHUR AT SR IERE H-350 L=4. bm ; HHIHAT
SHBBT LT IA ARE Z av ) ) - b BIReE Te
o Tk S 1 P
(typed)

-1 - Etrzmey TR R




B N ERE

T4 | Bl S S AR E T

THXSy « TfE - FER H A7 B & & F # il N EN

FER o EERE 4. om3LL F6. Om3AT# 1200 X 3400
X 1000 ; KAE, R, FEmAETE, LA 2V ) -,
TR BRAH TR Vb ) ARy 7" & T

o S 1 i
(typeb)
FER o FLRE 4. om3LL 6. Om3AT# 1200 X 3900
X 1000 ; KAE R, FEmAETE, LA 2V ) -,
TR BRAH TR Vb T ) ARy 7" & T

o S 1 i
(type6)
FER o EERE 4. om3LL 6. Om3AT# 1200 X 3000
%1000 ;

o S 1 i
(typeT)
R FLRE 6. 0m3LA E 1500 X 5500 X 1200 ;
|71 R NI 1S v 7 = V0 R N Y o 5+
N2 W ANAR VS DVAR=

o S 1 i
(type8)
Frre oo 2 (18 = ZLa%) 6. 0m3LA | 1200 X700
0X 1000 ; av7)=b A BRATG. TV/A-K Wb 77 2%y
7 Et

o Tk S 1 P
(type9)
JrRF D HaAf (i = L) 4. Om3LL_E6. Om3A i
1200 3800 X 1000 ; 2/7)—h FI¥e $EFFH. T/h-5K W
M7 VA7 G

o Tk S 1 P
(typel0)
FER o EERE 4. om3LL 6. Om3AT# 1200 X 3400
X 1000 ; KAE R, FEmAEE, LA 2V ) -,
TR BRAH TR VT ) ARy 7" & T

Jr AR 1 £
(1)

-2 - Etrzmey TR R




B N ERE

T4 | Bl S S AR E T

LHEXy - L - FEjl HOAL # il il 2!

%

e
&
\%}%ﬁ

==yt X FRL H=7. 65m BEERAvE ; AEERAR R
& HBE T

P P R !
2
F=n"=nypt PR H=7.90m HRERAvE 5 HERAR
& HBE T

P P R !
(3)
==y X PR H=8. 33m BEENAvE ; AEERAR R
& HBE T

P P R !
4)
F=n"=nypt PR H=7. 28m HRERAvE 5 HEREAR
& HBE T

P P R !
(5)
F=n"=nypt PR H=7.50m HRERAvE 5 AR
& HBE T

P P R !
(6)
F=n" =yt H TR H=6. 75m WIESL (47177 79Y)
s PEEAR B A B A T

P pr A !
)
A-n" =)t 3 FHL H=14. 65m B (1 -7 797)

AR I B e

P pr A !
(8)
F=n"=nvy” H PR H=6. 30m WIESL (47177 79Y)
s PEEAR B A B T

P prm A !
(9)
F=n"=nvyT A TR H=5.
s AERRAR B A AL E e

i

i

i

i

i

i

i

i

40m BBEEhL (8 =177 797)

-3 - Etrzmey TR R




B N ERE

T4 | Bl S S AR E T

TEHEXSy - TfE - fER Bz ¥ = & A M i N 7
Jr R AR 1 H
(10)
F=n"=nvy A PR H=T.38m @R Ak ; ARk R
4 BA T
2 SRR 21 e
JEA7 VAW 2 0m2LL | ;
o SR 2 e
JEA7 VAT MR 2, Om2 AR
HiEME T = 1 360, 868
FER R T = 1 324,720 | IEEkAE 9 #e
BN ;
TEHRALEL T X 1 36, 148 | BLIGIE AR S 1B 1 =Y
TR BOAA fTEI L& e
E% T X 1 450, 000
AEEB T = 1 450, 000 | AZiEFEEEE B 1 2V
[EREREE 2V 1 47, 764, 002
Il R = 1 3, 336, 180
Bt = 1 451, 180
Hfires gy = 1 63, 180 | 1E & sk B AT A ERE H 1 =
BlGRIEUER (FE L) = 1 388, 000
Il (it L) = 1 2, 885, 000
T = 1 51, 100, 182
Bl H 2V 1 13, 667, 000

-4 - Etrzmey TR R




R AR E
THEL | PR S SRR E T
THXSy - T - flj HOfr B & & fH # bl 2 i
TRl = 64, 767, 182
—fRE % v 11,702, 818
T ffik& = 76, 470, 000
5

ESR S S E IR Wk S




